TENSE

'YDS tense sorularinda 4 sey test eder:l

» past, present, future

» kisaltma
> aktif / pasif
> fikir



» past, present, future

7. A seminal study ---- that people who ---- less than
seven hours a night are at increased risk of

mortality.

A) revealed / will sleep

B) has revealed / sleep

C) reveals / will be sleeping

D) will reveal / have slept

E) had revealed / had been sleeping

2021 Nisan



> fikir

8. Burials ---- an important role in the beliefs of the
Lycians, for they cut hundreds of tombs into the cliff
faces and crags that ---- throughout the area.

A) should have held / will be seen

B) were able to hold / should be seen
C) had to hold / might be seen

D) used to hold / have to be seen

E) must have held / can be seen

2019 Aralik



The Greek philosopher Thales is said ---- a solar
eclipse ---- back to May 28, 585 BCE, which famously
brought a battle between the warring Lydians and
Medes to a halt.

A) to predict / to have dated

B) having predicted / having dated
C) to be predicted / being dated
D) to have predicted / dating

E) predicting / dated

2022 Nisan



TENSES
| l |

Past Present Future

T~

= Simple

= Continuous

= Perfect

= Perfect Continuous



TENSES

> Turkce’de 6, ingilizce’de 12 yiklem cekimi olmasi demek ne demek?
= Tirkce bir cimleyi cogu zaman iki farkli sekilde cevirebilirsiniz.

o | lost my wallet yesterday.

o | have lost my wallet.

= QOzellikle tense sorularinda salt ceviriye bagh kalmak
v’ soru ¢dzum slresini uzatir
v' hata yapma riskini artirir .



TENSES

 Past

* Present —  Naslil karar verecegiz?

* Future

/



7) A seminal study ---- that people who ---- less than
seven hours a night are at increased risk of

mortality.

A) revealed / will sleep

B) has revealed / sleep

C) reveals / will be sleeping

D) will reveal / have slept

E) had revealed / had been sleeping

2021 Nisan



Zaman - Siklik - Sire

Zaman : in 1990, now, tomorrow, during Cold war,
Sikhk : always, never, twice a week, everyday

Sure : for 2 years

= Dikkat: sadece zaman ifadesi tense belirler.

siklik ve slire ifadesi tense belirlemez.

| did sport everyday when | was at university.
| do sport everyday.
| will do sport everyday next year.

have controlled

= Ottomans .+ o/led

the Balkans for more than 300 years



Present

= Greenhouse gas emissions ----- global warming.

A) are causing

B) have caused

C) cause

D) have been causing
E) can cause



= YDS'de present yuklem cekimlerinin farki test edilmez.

= Sadece Present Perfect kullanmamizi gerektiren 6zel durumlar vardir.

Greenhouse gas emissions ----- global warming.

A) are causing

B) have caused

C) cause

D) have been causing
E) can cause



PRESENT

» Simple Present V(S) Greenhouse gas emissions cause global warming.

> Present Continuous (am/is/are Ving) Greenhouse gas emissions are cause global warming.

> Present Perfect (have /hasV3) Greenhouse gas emissions have caused global warming.

> Present Perfect Continuous (have /has beenVing)  Greenhouse gas emissions have been causing global warming.



> Simple Present  V(S) > Present Perfect (have /hasV3)

o Kalici eylemler: | live in Ankara o Bitmis eylem: [ have lost my wallet. (zaman belli degil)

o Bilimsel gercekler: Water freezes at O degree. o Devam eden eylem: | have been a teacher for 22 years.
o Tekrarlanan eylemler: /do sport at weekends.

> Present Perfect Continuous (have /has been Ving)

> Present Continuous (am/is/are Ving)

o Suan devam eden eylem: She is sleeping. o Devam eden eylem: |/ have been living here since 2015.

o Gegici eylem: | am studying Law at university



SIMPLE PRESENT (V)

Date (back)
Trace (back)
Go (back)

Exclusive pg. 164

PRESENT PERFECT (have /hasV3)

year
Recently So far over | month
ast
Up to now
Lately P past 5 minutes
) To date during century
Y \ ) within

tercih

Her zaman

Her zaman



in
over

last
for the
during past
within

= | have not seen him in the last week.

= | did not see him last week.

Dikkat!

during the 17th century - last/past yok. Bu kurala girmez.

during the 17th century . + V2

during the last century .+ have V3

year
month
5 minutes

century

yds pg.13/16



Costa Rica ---- the first country in Central America to
grow coffee, and for the last 100 years, this ---- its

leading export.

A) is/was

B) was / has been

C) had been/ used to be
D) would be / had been

E) could/is

yds pg.13/16



PRESENT

= PRESENT PERFECT CONTINUOS (have/has been Ving)

= PRESENT PERFECT (have/has V3)



PAST

Simple Past (v2)

o |lost my wallet yesterday.
o |livedin lzmir for 2 years

Past Cont. (was/were Ving)

o | was sleeping when he rang last night. bnemsiz

Past Perfect (had v3)

o When | got to the airport the plane had taken off.

Past Perfect Cont. (hadbeen Ving)



PAST

= Ne zaman Past?

1. Past zaman ifadesi
" in 1990, ago...

= originally, previously, initially, earlier, following
" until recently

" cUmle ortasi once He was once an actor.

" with With the fall of Berlin Wall

With the advancement in agriculture



= Ne zaman Past?

1. Past zaman ifadesi

2. Past ima

= QOttomans, dinosaurs, King Arthur

» Past imalar cimleyi %100 past yapmazlar.
Evlemi past ima gerceklestirdiginde past.

Karl Marx wrote Das Capital.

Karl Marx is known as the father of communism.



Past ima taklidi yapan ifadelere dikkat!!!

Mountains of Turkey is/are

The ruins of ancient Troy



= Ne zaman Past?

1. Past zaman ifadesi
2. Past ima

3. Ozelfiiller

originate
appear
emerge
start
begin

Eg: Internet originated due to military needs. s pg.13/17
2015-Eyliil



17.

Complex human language ---- suddenly and without
progression; like other advanced capabilities, it ----

in a series of stages.

A) does not appear / can evolve

B) has not appeared / might evolve

C) did not appear / must have evolved
D) will not appear / could have evolved

E) had not appeared / should have evolved

Yds pg.13/17
2015-Eyliil



A

Ne zaman Past?

Past zaman ifadesi

Past ima

Ozel fiiller

. Hayal

Without electricity, life would be hard.
If | knew French, | would help you.



Dikkat |

»  Had V3 yaninda mutlaka past ister.

»  Had V3 yaninda present, future yada kendisi varsa o secenek elenir.

Chinese influence on Japan ---- in the 7th
and 8th centuries as Japanese risers ---- to
build a Chinese style of bureaucracy and
society.

A) would peak / used to seek
B) has peaked / seek

C) was peaking / were seeking
D) had peaked / had sought

E) peaked / sought Yds pg.336/7

2022-Nisan

Recently, nutritional scientists ---- strong
evidence that the eating, drinking, exercise
habits of the Mediterranean people ---- a

major role in their low risk for heart disease.
A) uncover / are playing

B) are uncovering / had been playing

C) have uncovered / play

D) may uncover / have played

E) uncovered / had played Yds pg.310/7

2021-Ekim



Dikkat |

» Her iki boslukta past olacaksa, segeneklerdeki V2, V2 kesin dogru cevap.

A) was causing / had soared

B) had caused / was soaring

C) caused / soared

D) had been causing / would soar
E) could have caused / had to soar



FUTURE
will -
be going to
will be Ving

_ _ecek
will have V3 eee

will have been Ving

may, might, could

-

YDS aralarindaki farki test etmez



| could swim when | was 5.

t
/ pas

coUld s present  He could be at home now.

\A future | could go to Spain next year.



Ne zaman future

1. future zaman ifadesi
2. ozel filler 1. grup

3. 0zel filler 2. grup
4. zaman uyumu



1. Future zaman ifadesi

o tomorrow, next, in 2050
o within 5 years
O Yyears to come



2. Ozel filler 1. grup

foresee

forecast

foretell
predict == that + future

estimate
anticipate
project

envisage

v Not: bu fiilerin kendileri future cekilmez
o Scientists will predict.......

v Not: bu fiilerin isim hallerinin devaminda da future cekilir.

o Predictions reveal that + future.......



Not: zaman uyumludur

Scientists predict that global warming will reach at critical levels.
may

might
could

Scientists predicted last year that global warming would reach at critical levels.
could reach

would have reached

Voga 125/2
127/3



Recent studies ---- that by 2050 the average
number of tree speciesfound in any one part

of the Amazon rain forest ---- by 58 percent.
A) predict / may have declined

B) had predicted / should decline

C) predicted / must decline

D) have predicted / will have declined

E) would predict / could decline

Voga 125/2

An innovative application which ---- our
chances of developing Parkinson’s disease ----

available within a few years in the market.
A) should predict / would be

B) may predict / used to be

C) has to predict / might be

D) can predict / could be

E) must predict / have to be

Voga 127/3



3. 6zel filler 2. grup

state
declare

announce + that + future

be afraid
fear

The government has announced that precautions will be taken.

The government announced that precautions would be taken.

Underdeveloped countries fear that globalization will ruin their culture.
Underdeveloped countries feared that globalization would ruin their culture.

Yds pg. 12/8 Nisan 2014-



8. In September 2003, the National Book Foundation ----

that Stephen King ---- the recipient of a ‘lifetime
award’.

A) would be announcing / is to be
B) announces / has to be

C) had announced / used to be

D) had been announcing / has been

E) announced / would be

Yds pg. 12 soru 8 Nisan 2014-



Earlier this year, the US Food and Drug
Administration ---- that it ---- to regulate the
level of nicotine in cigarettes, attempting to

bring it down to ‘non-addictive’ levels.
A) predict / may have declined

B) had predicted / should decline

C) predicted / must decline

D) have predicted / will have declined

E) would predict / could decline

Voga 125/3

In 2018, the Canadian government ---- that it
---- single-use plastics by 2021, such as
straws, cotton swabs, drink stirrers, and

Styrofoam cups.

A) predict / may have declined

B) had predicted / should decline

C) predicted / must decline

D) have predicted / will have declined

E) would predict / could decline

Voga 126/8



4. Zaman uyumu

ANA CUMLE ZAMAN CUMLECIGI

(when, after, until, as soon as, before..)

PRESENT *_
/ PRESENT
FUTURE



When | got home he cooked dinner.
When | got home he was cooking dinner.

When | got home he had cooked dinner.

When | get home he cooks dinner.

When | get home he will cook dinner.

Yds pg. 12 soru 7 Nisan 2014



You ---- good about helping others when you see

how it ---- a difference for someone else.
A) feel / will have made

B) are feeling / had made

C) will feel / has made

D) felt/is making

E) had felt / will make

Yds pg. 12 soru 7 Nisan 2014



Since+ Noun : Since 1990

Since+ S+V : Since | graduated

Since | graduated, | have been a teacher.

Since he graduated, he had been a teacher.



13.

It ---- fourteen years since his last feature film,
Ryan’s Daughter, when David Lean ---- to filmmaking
with his 1984 adaptation of E. M. Forster’s
celebrated novel, A Passage to India.

A) had been /returned

B) has been / had returned
C) was / returns

D) will be / would return

E) is/ has returned

Yds pg. 13 soru 13 Nisan 2014



Fikir
Seceneklerde modal varsa fikir analizi yapmak gerekir !!!

v'Tim zorunluluk modallari EKSIDIR !!

PRESENT PAST
must should be to should have V3 had to
have to ought to ought to have V3

need to had better had better have V3



Although global warming ----- a serious issue, the government ---- the problem.

A) is / can overcome

B) has been / must overcome



Because global warming ----- a serious issue, the government ---- the problem.

A) is / can overcome

B) has been / must overcome



> fikir

8. Burials ---- an important role in the beliefs of the
Lycians, for they cut hundreds of tombs into the cliff
faces and crags that ---- throughout the area.

A) should have held / will be seen

B) were able to hold / should be seen
C) had to hold / might be seen

D) used to hold / have to be seen

E) must have held / can be seen

2019 Aralik



Double negation olmaz !!!

= Cumlenin fikri eksi olmasi gerekiyorsa, ve fiil yalin halde, yani her hangi
bir modal olmadan eksilik verebiliyorsa, zorunluluk modal’i kullanilmaz.

Global warming ----- a serious issue because the government ---- the problem.

A) has become / has been ignoring

B) is becomming / should ignore



A genetically modified plant may produce specific
proteins or other substances that have never before
been a part of the human food supply. These
substances have potentially negative side effects; for
instance, they (61) ---- as toxins or allergens.
Accordingly, an extensive testing and approval
process is mandated for foods of this kind, including
individual ingredients and additives (62) ---- whole
foods. Approval is granted (63) ---- the food is shown
to be safe in accordance with scientific standards.
This is accomplished by comparing genetically
modified product with its traditional (64) ----. The
long-term effects of the use of genetically modified
plants (65) ---- people and environment have not yet
been adequately determined.

61.
A) may act
B) could have acted
C) were to act
D) will have acted

E) must act

Yds pg. 39 soru 61
2016 Mart



